
 

fCx 2 3x gCx 2 2 2 11

f 61 2 316 2 18 16

f 51 2 31 5 2 115 17

glo 2 8 218 Il
128 16 11 101

gC53 21 55 21 5 11

50 110 11 49

g a 25 Za Il

f x _3 4 f x

f 21 312 14 10 f 2 t if

f 31 31 3 14 5 fC3 ftp 93 ff

f ft 3ft 14 I fC 1 3 Fz rzE
undefined
ink

fcxt x.IT H2 g fl D g s

fCD f undefined



4g x 7 x C 5

y III 44 Eo
5 EX

f 9 2 9 7 25

f 5 is undefined

f 67 54 6 7 1

f t C l 16 5

y
15 XE g

y x 14 ex s l
Ix 15 5 EX

Domain Look at the interval cases

C as 5 UI 3 DU 5sos

fCD I l 3 t4 ft If
f f D Eto t5 Et
f 107 140 5 5



DifferenceQuotient variations on slop formula

f xth f or
fCx f

h X a

Let fCx x 12 3

Find difference quotient fCxth fly

f 4th Cxth t 26th 13 Note

x42hxth 12 24 3
Y

f E 2x s t't

flxth f 2hxth 2h X't2xyty

fCxth f 2hxh42hh
hC2xth 12 2hf thy12hL
h

2xth 12 2x th 12



Practice
fCx 2 2 2 1 FndfCxth f

h

faith 2CxthTt2Cxth I

2 x4zhxth7t2Cxth 1

2 44 42442 24 I

f x 25 2x I

flxth.tt x
4xht2h2t2h4xht2h2t2hfCxth

h
f h

4xt2ht2



f x find difference quotient
faith fix

nfcxthf.tlxtIhn Lx complex fraction
need LCD for
all fractions

XLxth x xth Il
xcxth

up xCxtht

h x xth

x Cx
h x Cxth

X X h
Tixth
4 1
KxCxth

th



f x _fx Find faith fCx

T

fCxth
f Fthj Should rationalize

numerator
use conjugate

h

I ff a b Cathfarth

X th x

htrx

hhrxthtrxT
1

Fth 1 Tx



fCx Find flxth
h

f xth f x

hTµ
Complex fraction
LCD of xyxth

z
is XYxth

x'Cxth

Cxth
h x 6th

X t2xh
hit Cxth

2xh
h x'Cxth

2x th
xTxth



f x x2 12 13 fCx f
x a

fCx fca I 12 13 d Za 3
X a

x7d 2x
X a

Cx d 2x 2e

Cxta Cx c t2
x a

Cxtat2Kx

X ta 12


